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2.3 EFEIT
2.3.1 2Hz BKAHTERERF

entity clk2hz is
port(
clk : in std_logic;
clock2hz : out std_logic
)i
end clk2hz;

architecture Behavioral of clk2hz is
constant m : integer :=
12500000

2.4 1-99Hz BKHZETERF

entity Freqg is

port(
clk50m : in std__logic;

key0: in STD__LOGIC;
keyl: in STD_LOGIC;

q0: out
STD_LOGIC_VECTOR
(3 DOWNTO 0);

ql: out
STD_LOGIC_VECTOR
(3 DOWNTO 0);

freq : out std__logic

);

end Freqg;

architecture Behavioral of Freqg is
COMPONENT clk2hz
port(
clk : in std__logic;
clock2hz : out std_ logic
)i
end COMPONENT;
COMPONENT KeyInput

2.4.1 BkAsoBcs

entity PulseAssign is
port(

freq : in std_logic;
swl_x :in std_logic;
swO_x : in std_ logic;
A : out std_ logic;

B : out std__logic;

C : out std_ logic

signal tmp : std__logic;
begin
process(clk,tmp)
variable cout : integer := 0;
begin
if rising edge(clk) then
cout := cout+1;
if cout <= m then
tmp <=0’

elsif cout < m#*2 then

PORT(
clk2Hz: IN STD_ LOGIC;
keyO: IN STD_ LOGIC;
keyl: IN STD_LOGIC;
q0: OUT
STD_LOGIC_VECTOR
(3 DOWNTO 0);

ql: OUT
STD_LOGIC_VECTOR
(3 DOWNTO 0)

)i
end COMPONENT;

signal clock2hz : std_ logic;
signal q2,93,94,95 :
std_logic_vector(7 downto
0) := ”000000007;
signal q00,q11 :
std_ logic_vector(3
downto 0);
signal k : integer range 0 to
25000000;
begin
u0 : clk2hz port map ( clk =>
clk50m, clock2hz =>
clock2hz );

end PulseAssign;
architecture Behavioral of
PulseAssign is
signal qa: std_logic :="1";
signal gb,qc : std_logic
:="0;
begin
process(freq)

begin

tmp <= 1%
else
cout := 0;
end if;
end if;
end process;
clock2hz <= tmp;

end Behavioral;

ul : KeyInput port map (
clk2Hz => clock2hz, key0
=> key0, keyl => keyl,
q0 => q00, q1 => ql1 );
q0<=q00;
ql<=qll;
process(key0,key1)

begin
if key0 =1’ and keyl ="'1’
then
q2(3 downto 0) <= q00;
q3(4 downto 1) <= ql1;
q4(6 downto 3) <= qll;
g5 <= q2+4q3+q4;
k <= 25000000/
conv__integer(qg5);
end if;

end process;

process(clk50m)
variable cout: integer := 0;

begin

end process;

end Behavioral;

if rising edge(freq) then

qa <= not((swl_x and
gb) or ((not swl_x
) and qc));

gb <= not((swl_x and
qc) or ((not swl_x
) and qa));

qc <= not((swl_x and

qa) or ((not swl_x



2.4.2

) and gb));
end if;

end process;

FiEFF

entity Motor is

port(
clk50m : in std_logic;
key0,key1: in std_ logic;
sw0,swl: in std__logic;
A : out std__logic;
B : out std__logic;
C : out std_logic;
freq : out std__logic;
seg_dis_ql : OUT
STD_LOGIC_VECTOR
(6 DOWNTO 0);
seg_dis_q0: OUT
STD_LOGIC_VECTOR
(6 DOWNTO 0)
)i

end Motor;

architecture Behavioral of Motor is

COMPONENT Freqg
PORT(

clk50m : in std__logic;

key0: in STD_ LOGIC;

keyl: in STD_LOGIC;

q0: out
STD_LOGIC_VECTOR
(3 DOWNTO 0);

ql: out

FoAdy BT R PP o

3 SEWEESER

1 Gl TRt

A <=qa and sw0_x;
B <=qgb and sw0_ x;
C <=qc and sw0_ x;

end Behavioral;

STD_LOGIC_VECTOR begin

(3 DOWNTO 0);
freq : out std_logic
)i
END COMPONENT;
COMPONENT PulseAssign
port(
freq : in std_ logic;
swl_x : in std_ logic;
sw0_x : in std__logic;
A : out std__logic;
B : out std_logic;
C : out std_logic
)i
end COMPONENT;
COMPONENT hexT7seg
PORT(
data_in : IN
STD_LOGIC_VECTCR
(3 DOWNTO 0);
seg_dis : OUT
STD_LOGIC_VECTOR
(6 DOWNTO 0)
)i
end COMPONENT;
signal q0,ql : std_ logic_ vector(3
DOWNTO 0);

signal freq_in : std_ logic;

(amw Project Wiard

Summary

When you click Fiish, the project will be created with the following settings:

DCircexpFPGA/Lab14
Labte

Labte

o

nla
MAX 10 (DA/DD/DF/DC/SA/SC/SL)
10MSODAF484C7G
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Freqgl: Freqg PORT MAP(
clk50m => clk50m,
keyO => keyO0,
keyl => keyl,
q0 => q0,
ql => ql,
freq => freq_in

);

PulseAssignl: PulseAssign

PORT MAP(
freq => freq_in,
swl_x => swl,
sw0_x => sw0,
A=>A,

B => B,
Cc=>¢C

);

hex7segl: hex7seg PORT MAP(
data_in => q0,
seg_dis => seg_dis_q0

);

hex7seg2: hex7seg PORT MAP(
data_in => ql,
seg dis => seg_dis_ql

);

freq<=freq_in;

end Behavioral;
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